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Useful Guidelines:
* To solve an equation with rational expressions: %

1. Determine the domain.

2. Multiply all the terms in the equation by the least common denominator.

3. Solve the resulting equation and check that the solution is in the domain of the equation.
* To solve a formula for a specified variable, isolate that variable on one side of the equation.
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* To solve a motion problem, use the formula d = 7¢ or one of its equivalents, f=— or r=—.
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* To solve a word problem: :
(1) Assign a variable, (2) Write an equation, (3) Solve the variable, and (4) State the answer.
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v 2. Solve each formula for the specified variable.
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3. If 20 out of 100 Americans had no dental insurance coverage. The population at that time
was about 280 million. How many million had no dental insurance coverage? [Hint: Let

x =the number (in millions) who had no dental insurance. ] LcO 2 /4oo
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4. Jonathan’s car uses S%allon of g%s to travel 100 miles. He has 4 gallon of gas in the car, and
he wants to know how much more gas he will need to drive 320 miles. If we assume the car

continues to use gas at the same rate, how many more gallons will he need? [Hint: Let x =the
additional number of gallon of gas needed.]
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